Skovde BA

Arsmote 24 Br 2023-09-16

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poéng % Namn MID Klubb
1 1 139 57.92 Anna Syberfeldt - Sanny Syberfeldt 40068 40054 Skévde BA
2 9 137 57.08 Per-Olov Ek - Trond Hegrand 59352 200990 Skovde BA
3 5 132 55.00 Patrik Elofsson - Benny Olsson 28614 592 Skovde BA
4 8 130 54.17 Mia Kjellgren - Maria Térnblad 26451 84547 Skévde BA
5 12 128 53.33 Leif Karlsson - Claes Stymne 88220 88217 Skovde BA
6 7 126 52.50 Anders Jonsson - Agneta Johansson 65097 43365 Skévde BA
7 4 122 50.83 Lisbeth Olsson - Ewa Sjoberg 1855 1608 Skévde BA
8 2 119 49.58 Bengt Forsberg - Birgitta Patzschke 24787 23957 Skovde BA
9 10 113 47.08 Lena Garhamn - Hakan Hermansson 37261 23973 Skévde BA
10 6 101 42.08 Inger Stenlund - Ing-Marie Wijkmark 43376 10359 Skévde BA
11 11 99 41.25 Bjorn Gaarder - Ruth Berglow 23977 38621 Skovde BA
12 3 94 39.17 Mattias Axner - Arnold Ivansson 63678 7721 Skévde BA
1 4 D10642 Basta kontrakt 2 41085 Basta kontrakt 3 & K8762 Basta kontrakt
Nord vKn 6NT O =-990 Ost vD762 34 O =-140 Syd v DKn102 2v S =110
Ingen ¢ 62 NS + K1096 ov + K
#Kn8653 & ¢ v & NT *64 & ¢ v & NT #D85 & ¢ v & NT
& K853 a7 N30040 « D96 & EK732 N36833 4EKn 410954 N7 7876
vD9 vEK10852 S 3 2 050 v10843 vK S 36833 vE53 v864 S77877
¢ EKKn109 ¢ 75 O 9 11128 12 +Kn8732 ¢54 086597 + D765 ¢1092 O6 656 6
*EK «D1094 V 9 11128 12 *K #EDKN105 VvV 8 6 5 9 7 #E632 #K74 V66566
& EKn9 4 Kn4 4 D3
v 7643 v EKn95 v K97
+ D843 ¢ED + EKn843
@72 #98732 #Kn109
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 3 6v0-1 v3 50 100 0.0| 2 11 34 O+2 v5 -200 90 10| 9 1 INDV-1 +K 200 10.0 0.0
8 6 4v O+1 *7 -450 80 20| 8 6 2#S-2 40 -200 90 10| 2 11 2¢v N+1 ¢2 140 80 20
10 5 3NV +4 3 -520 6.0 40| 4 3 440= 9 -420 30 70| 8 6 INV-1 vQ 100 6.0 4.0
9 1 6v0O= +4 -980 40 60| 7 12 44 0= a] -420 30 70| 4 3 2¢S-1 *A -50 40 6.0
2 11 6NO= 49 -990 10 90 9 1 440-= 29 -420 30 7.0| 7 12 INV= vQ -90 20 80
7 12 6NV = a2 -990 1.0 90|10 5 440= vA -420 30 70|10 5 INV+1 a2 -120 0.0 10.0
4 &D Bésta kontrakt 5 s EK Bésta kontrakt 6 104 Bésta kontrakt
Vast v KKn9 44 V D -2 500 Nord vE2 5¢ N =600 Ost v Kn952 3v O =-140
Alla + D63 NS + EKKn83 ov + EKKn102
#EKDKN65 & ¢ v & NT #8742 & ¢ v & NT *74 & ¢ v & NT
410632 4Kn98754 N 107 9 5 9 4Knl10974 «D82 N 11117 6 9 4EKn82 4D9 N47 366
vE53 v 82 S 107 9 5 9 v D853 v 109764 S 11117 6 9 v D863 v EK104 S 47 366
¢+ K84 ¢ E952 036 383 496 ¢ 107 022672 .- 498543 096977
#743 8 V36383 *EK #1065 V22672 #K10952 %83 V96977
&« EK # 653 & K7653
vD10764 v KKn v7
+ Kn107 ¢ D542 + D76
#1092 #DKn93 #EDKnN6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 11 3NS+3 42 690 100 00| 1 7 3NS= +J 600 6.0 40[(10 6 INN+1 vA 120 10.0 0.0
9 2 3NS+2 43 660 80 20| 3 11 5¢ N= v4 600 6.0 40| 3 11 24 S-1 vQ -50 5.0 5.0
8 12 3NN+1 +5 630 50 50| 5 4 3NS= 4J 600 60 40 5 4 24S-1 v6 -50 50 5.0
10 6 3NS+1 43 630 50 50| 8 12 5¢ N= 42 600 6.0 40| 8 12 INN-1 vK -50 50 5.0
5 4 4v S= 46 620 20 80|10 6 3NN= vT 600 60 40 9 2 2¢ N-1 vA -50 50 5.0
1 7 5vN-2 *7 -200 0.0 100| 9 2 3¢ N+1 42 130 00 100| 1 7 INN-2 v2 -100 0.0 10.0
7 &« K43 Bésta kontrakt 8 4 K5 Bésta kontrakt 9 & K843 Bésta kontrakt
Syd vK4 ANT S =630 Vast v EKD943 3v N =140 Nord v D104 3¢ O =-110
Alla +D107432 Ingen + EK5 ov *-
#54 & ¢ v & NT #98 & ¢ v & NT #ED10642 & ¢ v & NT
4ED9 4108652 N 10117 7 10 4 Kn10964 «87 N6 99 7 8 4 E9762 &Kn N546 76
vD987 vKn532 S 10117 7 10 v- v Kn8762 S6 99738 vE9 v KKn53 S54676
+85 ¢+ K6 03266 2 + D87 + 1062 O7 43514 ¢ KDKn ¢ 109632 049656
#K832 #Knl0 V32662 #EKKNn62 #D74 V74364 &#KKn7 4953 V79666
4 Kn7 4 ED32 D105
vE106 v 105 v 8762
+ EKn9 + Kn943 + E8754
#ED976 #1053 »8
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
11 4 3NN+2 45 660 100 00| 6 5 3vyDN+1 &7 630 100 00| 1 12 24 V-2 v4 200 9.0 1.0
1 12 3NS+1 v8 630 70 30| 2 8 2¢vN+1 48 140 80 20| 9 3 3¢4DO-1 48 200 9.0 1.0
2 8 3NS+1 v8 630 70 30| 1 12 4vyN-1 LY] -50 30 7.0|11 4 2&4N= ] 90 6.0 4.0
9 3 INS+4 +8 210 40 60| 9 3 3NS-1 *A -50 30 7.0|10 7 2&4N-1 &) -50 40 6.0
6 5 3¢ N+1 48 130 20 80|10 7 3NS-1 *2 -50 30 70| 2 8 2NO+1 &T -150 1.0 9.0
10 7 3NS-1 v8 -100 0.0 10.0|11 4 4vyN-1 *4 -50 30 70| 6 5 3&4N-3 a] -150 1.0 90
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10 4 Kn9532 Basta kontrakt 11 4105 Basta kontrakt 12 41094 Basta kontrakt
Ost vD763 7¢ SD-5-1400 |Syd v ED92 4v V =-420 Vast v EK6 34 VD-1100
Alla + KKn6 Ingen + Kn1064 NS + K43
»10 & ¢ v & NT #K52 & ¢ v &N #ED98 & ¢ v & NT
4 K8 « ED764 N18431 & K84 « ED7 N2 4252 4 DKn6532 «EKS8 N6 9 755
v Kn9 v K1082 S18431 v 1083 v KKn65 S24252 v D432 S6 9755
¢+E +98 O 125 8 1012 + EK3 ¢ 852 O 109 108 9 ¢ EKn 06 4588
#DKn976542 #EK V 125 8 1012 #EDKn8 #1096 V 109 108 9 #Kn753 V6 4588
10 & Kn9632 a7
vE54 v74 v 10985
+ D1075432 + D97 + 1087652
»83 *743 *K6
Par Kontr ut Res Poang Par Kontr ut Res Par Kontr ut Res Poéang
7 6 44 O-2 ¢4 200 90 10| 3 1 3NV= ¢+6 -400 6.0 40| 9 4 4eDS-= «Q 710 10.0 0.0
9 4 44 0-2 +7 200 90 10| 7 6 3NV= +J -400 6.0 40| 7 6 INN= aA 90 80 20
10 8 44 O-1 +2 100 60 40| 9 4 3NV= +*J -400 6.0 40(10 8 4aV-1 vA 50 6.0 4.0
11 5 5&V+2 a2 -640 40 6.0|10 8 3NV= ¢+6 -400 6.0 40|12 2 INN-1 v2 -100 40 6.0
3 1 3NV+3 a5 -690 1.0 90|11 5 3NV= *4 -400 6.0 40| 3 1 34V= vA -140 1.0 9.0
12 2 3NV +3 + K -690 10 90|12 2 3NV+1 v2 -430 00 100|11 5 3aV= vA -140 1.0 9.0
13 4872 Basta kontrakt 14 4 KD432 Basta kontrakt 15 4« ED1082 Basta kontrakt
Nord vKn 5NT O =-660 Ost v 9874 3v OD-1100 Syd v75 6¢ S D-3-800
Alla + 8532 Ingen + KD6 NS + D832
#E10965 & ¢ v & NT »2 & ¢ v &aN 108 & ¢ v & NT
# EKn10953 #KD6 N6 8422 &« EKn97 48 N6548 4 473 NO9 27 2
vD3 v EK985 S68422 v- vEKKn10652 S 6 5 4 8 7 vKD10843 v EKn92 S09 272
+ D7 ¢ EKn O6 3 8 1011 ¢+ Kn10743 ¢ 852 O56 856 ¢ E97 O 114 114 8
#Kn87 #D43 vV 6 3 8 1010 #KD104 %83 V56856 #DKn32 & EK97 V 124 115 11
a4 #1065 » Kn965
v 107642 vD3 v6
+ K10964 ¢+ E9 + KKn654
*K2 #EKn9765 #654
Par Kontr ut Res Poang Par Kontr ut Res Par Kontr ut Res Poang
12 3 64 V-1 «A 100 100 00| 4 2 44 N-2 vA -100 80 20| 9 5 6vV-1 +3 50 10.0 0.0
1 10 44 V+1 vJ] -650 6.0 40| 8 7 44 N-2 vA -100 80 20| 1 10 4vV+l 2 -450 40 6.0
4 2 44 O+1 v7 -650 60 40|12 3 44 N-2 vA -100 80 20| 4 2 4vV+l +3 -450 40 6.0
9 5 4aV+l vJ] -650 60 40| 1 10 2v0O= ¢ A -110 40 6.0| 8 7 4vV+l &T -450 40 6.0
11 6 3NO+3 *4 -690 20 80| 9 5 3v0O+1 &5 -170 20 80|11 6 4vV+l &T -450 40 6.0
8 7 3NO+4 *4 -720 0.0 100|11 6 44DN-2 ©vA -300 0.0 10012 3 4v V+l &T -450 40 6.0
16  DKn8 Bésta kontrakt 17 496 Bésta kontrakt 18 4753 Bésta kontrakt
Vast v Kn852 64 ND-6-1400 |Nord v92 5NT O =-460 Ost v K54 3v OD-1100
oV 4976 Ingen + KKn1062 NS + D95
#KKn2 & ¢ v & NT 10985 LI A *E987 & ¢ v & NT
& EK7 463 N4216 2 & K87 4« E103 N2 435 4982 & KKn6 N6 9 478
vED106 vK974 S4216 2 vKD105 vKn4 S 2435 vD73 v E10982 S6 9478
¢E105 ¢ KDKn3 09 11127 11 ¢+ E84 ¢+ D75 O 119 108 ¢ EKN73 ¢8 O7 485 4
+986 &E75 vV 9 11127 11 #KDKn &E7642 vV 119 9 8 #Kn52  #KD104 V64855
4109542 & DKn542 4 ED104
v3 v E8763 v Kn6
¢ 842 493 + K10642
#D1043 3 #63
Par Kontr Ut Res Poéang Par Kontr Ut Res Par Kontr Ut Res Poang
2 10 6y V-1 2 100 100 00| 5 3 3vS-3 &K -150 00 00| 5 2¢ S+1 v3 110 10.0 0.0
1 8 4v V+1 ] -650 50 50| 9 6 2NV+3 49 -210 80 20| 7 4v O -2 6 100 80 20
5 3 4v V+l ] -650 50 50| 1 8 3NV+2 v9 -460 30 70| 1 3v O-1 »3 50 50 5.0
9 6 5vV= 2 Q -650 50 50| 2 10 3NV +2 49 -460 30 70| 9 3v0O-1 2 50 50 5.0
12 4 4v V+1 8 -650 50 50| 7 11 3NO+2 a2 -460 30 7.0]|12 2y O = *6 -110 20 8.0
7 11 3NV +2 v5 -660 0.0 100|12 4 3NO+2 a5 -460 30 70| 2 2v O +1 a4 -140 0.0 10.0
19 & K8542 Bésta kontrakt 20 & K Bésta kontrakt 21 496 Bésta kontrakt
Syd v92 44 S =420 Vast v 10983 3¢ N =110 Nord v K107 3v O =-140
oV 492 Alla + Kn92 NS + KD2
#KD109 & ¢ v & NT #D9652 & ¢ v &N #KD732 & ¢ v & NT
«D « Kn109 N 106 8 108 46 «ED1098732 N 7 9 8 4 7 « EKD754 N7 8456
vKDKn7 v843 S 106 8 108 v 754 vKD6 S89847 v6542 vD983 S78456
¢ DKn765 ¢ E1083 037534 ¢ K1054 ¢7 054585 ¢ E1065 ¢8 055986
#Kn43 *872 V37534 #KKn1074 3 V54585 #Kn864 #E10 V55987
2 E763 & Kn54 » Kn1082
v E1065 v EKn2 v EKn
¢+ K4 + ED863 + Kn9743
#E65 »E8 #95
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poéang
12 5 44 S+1 vQ 450 100 00| 9 7 44 0-2 v2 200 9.0 10| 6 2¢DS= 43 180 10.0 0.0
8 11 44 S= vK 420 70 3.0|12 5 44DO-1 44 200 90 10| 3 4v V -3 K 150 80 20
9 7 44 S= vK 420 70 30| 6 4 44 0-1 «A 100 6.0 40| 9 INN-1 s A -100 6.0 4.0
3 10 24 S+2 vK 170 30 7.0| 8 11 5¢ S-2 46 -200 40 6.0| 8 1a O +1 *9 -110 30 7.0
6 4 34 N+1 ¢A 170 30 70| 2 1 440= *A -620 1.0 90|12 2y O= *9 -110 30 7.0
2 1 3NS-1 +5 -50 0.0 10.0| 3 10 44 O= A -620 1.0 90| 2 2vy O+1 *9 -140 0.0 10.0
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22 4 K74 Basta kontrakt 23 & EK763 Basta kontrakt 24 4« KD9762 Basta kontrakt
Ost v 743 5v O =-650 Syd v 7652 34 S =140 Vast v 86 6¢ V =-920
ov + E10543 Alla +ED Ingen ¢ 542
74 & ¢ v & NT &73 & ¢ v & NT 64 L Y
4 Kn983 4 ED5 N45 222 «D8 4105 N6 6 9 9 8 4Kn85 #E3 N7 126
v K6 v ED9852 S45 222 vD4 v Kn109 S66 998 v KKn vED10543 S 7 1 2 6
K987 ¢D O 9 8 111010 + 8763 ¢KKn1092 O 7 7 3 4 4 + E963 ¢ KDKn7 O 6 12116
&#Knl09 &E65 V 9 8 101010 #E10864 #K52 V7734414 10872 &9 V 6 12116
41062 & Kn942 4104
v Knl10 v EK83 v972
¢+ Kn62 +54 +108
#KD832 &DKn9 &#EKDKN53
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
1 11 4v 0= vT -620 90 10| 1 11 44 N= vJ 620 90 10| 1 11 4v O+l &K -450 5.0
4 10 4v O = *2 -620 90 10| 4 10 44 N= ¢T 620 90 10| 3 2 4v0O+1 &A -450 5.0
3 2 4v0+1 &K -650 30 7.0 3 2 3aN+1 a2 170 50 50| 4 10 4vO+1 &A -450 5.0
6 12 4y O+1 &2 -650 30 7.0( 7 5 34N+1 vT 170 50 50| 6 12 4v O+1 aT -450 5.0
7 5 4y O+1 &K -650 30 7.0| 6 12 34 N= vlJ 140 20 80| 7 5 4v0+1 &A -450 5.0
9 8 4v0+1 &K -650 30 70| 9 8 44 N-1 vJ -100 00 100| 9 8 4vO+1 &A -450 5.0
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